FINAL ANSWER KEY

Paper: Sociology Penology and Criminology (Paper II)
Date of Test 31-10-2020
Questionl:-Prisons are included in scheduled of the constitution

A:-Seventh Schedule
B:-10th Schedule
C:-8th Schedule
D:-None of these
Correct Answer:- Option-A
Question2:-The protection of children from sexual offence Act came into force in the year
A:-1993
B:-2010
C:-2012
D:-None of these
Correct Answer:- Option-C
Question3:-Set of is allowed by the to be a reduction in the total sentence of a prisoner
A:-Hon' ble High court of kerala
B:-The union govt
C:-The prosecution
D:-Police
Correct Answer:- Option-A
Question4:-Article 21 of the constitution of India provides for
A:-Right to life
B:-Right to property
C:-Right to Education
D:-None of these
Correct Answer:- Option-A
Question5:-Kesavanantha Bharathy case refers to
A:-Constitutional amendment by the Govt.
B:-Right of the press
C:-Right to freedom of Association
D:-None of these
Correct Answer:- Option-A
Question6:-Govt. of Kerala set up a commission to enquire and report about the escort of prisoners to various courts by the police is heady by

A:-Justice Ramachandran commission
B:-Dr. Alexander Jacob commission
C:-Justice Narayana Kurup Committee
D:-None of these
Correct Answer:- Option-A
Question7:-Writ Jurisdiction is a right given to a person before to file
A:-Sections court
B:-High court
C:-CJM
D:-None of the these
Correct Answer:- Option-B
Question8:-Social change is responsible for
A:-Social progress
B:-Social revolution
C:-Social disorganization
D:-All of the above
Correct Answer:- Option-D
Question9:-Proximity to nature is a characteristics of
A:-Agrarian society
B:-urban society
C:-Industrial society
D:-Post industrial society
Correct Answer:- Option-A
Question10:-Which is the following is not a part of primary group
A:-Family
B:-Peer group
C:-Neighborhood
D:-Crowd
Correct Answer:- Option-D
Questionll:-What is the maximum age of female juvenile delinquent
A:-16
B:-18
C:-19
D:-21
Correct Answer:- Option-B
Question12:-The theory of differential association in criminology is proposed by
A:-Lombroso
B:-Smith
C:-Sutherland
D:-Karlmax
Correct Answer:- Option-C
Question13:-In which year the term sociology was coined and published in the world
A:-1780
B:-1857
C:-1957
D:-1839
Correct Answer:- Option-A
Question14:-The word sociology made up of two words



A:-Societies and logy
B:-Socious and logos
C:-Socio and logos
D:-None of these
Correct Answer:- Option-B
Question15:-Marriage is a/an important social institution of society
A:-Important and universal social institution
B:-Group coordination
C:-Two conflict groups
D:-Strengthening the caste system
Correct Answer:- Option-A
Question16:-The three tier system of panchayath raj was recommended by
A:-Simon commission
B:-Sarkkaria commission
C:-Walter reckless committee
D:-Balwant Rai Mehta committee
Correct Answer:- Option-D
Question17:-What is mean by sex ratio
A:-The relation between male and female
B:-The ration between adult male and adult female
C:-The ration between female and number of male population
D:-number of female per thousand male in a population
Correct Answer:- Option-D
Question18:-The word Harijan to untouchability was given by
A:-Mahathma Gandhi
B:-Dr. B.R. Ambedkar
C:-Jawarlal Nehru
D:-None of these
Correct Answer:- Option-A
Question19:-In India the institution of a family has a trend towards
A:-Joint family
B:-Single family
C:-Patriakkal family
D:-Matriakkal family
Correct Answer:- Option-A
Question20:-Social Norms are
A:-Which incorporate value judgement
B:-Standardized generalization
C:-behavior of a individual
D:-none of these
Correct Answer:- Option-C
Question21:-Customs is
A:-Actual behavior
B:-Desirable behavior
C:-Behavior of majority of individual
D:-It is traditionally accepted
Correct Answer:- Option-D

Question22:-Who among the following has the concept of with Ego super Ego

A:-Sigmond Freud

B:-C.H.Hooly

C:-Maclver

D:-none of these

Correct Answer:- Option-A
Question23:-A major cause of high maternal mortality rate in India is

A:-Anaemia among women

B:-Poor medicine

C:-llliteracy

D:-Pregnancy in early stage

Correct Answer:- Option-A
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Question24:-Write given which are the citizen by the constitution which cannot be taken away are called

A:-Legal

B:-Moral

C:-Political

D:-fundamental rights

Correct Answer:- Option-D
Question25:-The Sharada Act 1929 is

A:-Widow remarriage among the Hindus

B:-Polygamy and polyandry

C:-Cousin Marriage

D:-Abolishing the child marriage

Correct Answer:- Option-D
Question26:-Man is a social animal is the statement given by

A:-Augusty comte

B:-Socretes

C:-Plato

D:-Aristotle

Correct Answer:- Option-D
Question27:-Which one is none to be the youngest of all the social science

A:-Economics

B:-Sociology

C:-Anthropology

D:-Psychology

Correct Answer:- Option-B
Question28:-Incapacitation of a crime is



A:-Keep the offender from committing the crimes
B:-Keep the offender in the society
C:-Imposing fine
D:-Extradition
Correct Answer:- Option-A
Question29:-Plato was the supporter of theory of punishment
A:-Preventive theory
B:-retributory theory
C:-reformatory theory
D:-rehabilitation theory
Correct Answer:- Option-B
Question30:-A woman prisoner can kept a child to years in the jail with the mother
A:-7 years
B:-6 years
C:-5 years
D:-8 years
Correct Answer:- Option-B
Question31:-Then whipping Act 1864 repealed the punishment of
A:-Branding
B:-Mutilation
C:-Changing of prisons
D:-Flogging
Correct Answer:- Option-D
Question32:- form of punishment was banned in the year 1955
A:-Banishment
B:-fogging
C:-Begging
D:-Fine sentence
Correct Answer:- Option-B
Question33:- section of IPC set limits for solitary conferment
A:-120B
B:-420
C:-302
D:-Section 74
Correct Answer:- Option-D
Question34:- is the most widely used form of capital punishment
A:-Flogging
B:-Homised
C:-Electrotution
D:-Hanging
Correct Answer:- Option-D
Question35:-The central Government giving financial assistant through
A:-Five year plan
B:-Neeti Ayog
C:-Finance commission
D:-Union territory
Correct Answer:- Option-C
Question36:-Regional Institute of correctional administration or APKA is situated
A:-Vellore
B:-Chennai
C:-Chandigarh
D:-Delhi
Correct Answer:- Option-A
Question37:-The first Act in prison Administration was enacted all over India in
A:-1950
B:-1894
C:-1857
D:-1920
Correct Answer:- Option-B
Question38:-The Jail commission to report about the release of prisoners prematurely is called
A:-UN Expert committee headed by Sir Walter Reckless
B:-Justice V.R Krishna lyyer
C:-Justice Malimath committee
D:-Kapoor committee
Correct Answer:- Option-A
Question39:-The new Juvenile Justice (care and protection of children) Act 1986 was modified in the year
A:-1992
B:-2000
C:-2010
D:-2019
Correct Answer:- Option-B
Question40:-COFEPOSA Prisoners came under the category of
A:-Remand prisoner
B:-Civil prisoner
C:-Detenues
D:-Habitual prisoners
Correct Answer:- Option-C
Question41:-Lex Talionis is a term refers to
A:-Eye for an Eye
B:-Truth for a Truth
C:-Compensation to the victim
D:-None of these
Correct Answer:- Option-A
Question42:-Who are considered as social offenders




A:-Who commits traditional crimes
B:-Who commits politically motivated crimes
C:-Economic offenders
D:-Who commits crime under social legislation
Correct Answer:- Option-D
Question43:-Who is the founder of social contract theory
A:-Peter Sutherland
B:-John locke
C:-Jean Rousseo
D:-Jermy Bentham
Correct Answer:- Option-B
Question44:-Theory of Utilatarilism is proposed by
A:-Thomas Hogge
B:-John Locke
C:-Roussoeo
D:-Jermy Benthan
Correct Answer:- Option-D
Question45:-Blue Collar Crime is called
A:-Tradition crime
B:-Exhaust of money by public servant
C:-Committing fraud
D:-none of these
Correct Answer:- Option-A
Question46:-Which of the following is sectional IPC is not related to offence against woman
A:-Section 354 IPC
B:-Section 376 IPC
C:-Section 498 IPC
D:-Section 377 IPC
Correct Answer:- Option-D
Question47:-Which of the following section of IPC has been withheld as crime against the child under IPC
A:-Section 304 B
B:-Section 312
C:-Section 375
D:-Section 366 A
Correct Answer:- Option-D
Question48:-Crime syndicate is an example of crime
A:-a political crime
B:-Orgaisational crime
C:-White collar crime
D:-Crime against woman
Correct Answer:- Option-B
Question49:-The system of open prison was first introduced in which country
A:-U.S.A
B:-U.K.
C:-Germany
D:-None of these
Correct Answer:- Option-D
Question50:-How many open prisons are established in kerala
A:-3
B:-2
C:-5
D:-None of the these
Correct Answer:- Option-A
Question51:-Sleeping space for a prisoner is
A:-Sleeping space 380 Sqr. metr
B:-3.7 Sqr.M
C:-5 Sgr m.
D:-6 square meter
Correct Answer:- Option-A
Question52:-The IT Act 2000 does not cover the following type of cyber crime
A:-Tamporing with computer document
B:-Hacking computer system
C:-Publishing information which obseen
D:-Publishing through Newspaper
Correct Answer:- Option-D
Question53:-Masking the real message by various means is known as
A:-Hacking
B:-Criptogrphy
C:-Enscription
D:-Stegamography
Correct Answer:- Option-D
Question54:-Piracy is a crime
A:-Civil crime
B:-Criminal Offence
C:-Both (1) and (2)
D:-None of these
Correct Answer:- Option-B
Question55:-The highest punishment in India is
A:-Life Imprisonment
B:-Capital punishment
C:-Ambutation of boding part
D:-Fine
Correct Answer:- Option-B
Question56:-Which one of the following is considered a mental disease



A:-Robbery
B:-Burglaring
C:-Arson
D:-Cloptomania
Correct Answer:- Option-D
Question57:-Supreme court of India is located at
A:-Mumbai
B:-Calcutta
C:-Chennai
D:-Delhi
Correct Answer:- Option-D
Question58:-The right of private defence is available with respect to
A:-Harm to the body
B:-Harm to movable property
C:-Harm to immovable property
D:-All of the above
Correct Answer:- Option-A
Question59:-Headquarter of International Criminal court is
A:-Spain
B:-France
C:-Netharland
D:-Germany
Correct Answer:- Option-C
Question60:-Central Bureau of Investigation belongs to which country
A:-India
B:-Germany
C:-France
D:-U.S.A
Correct Answer:- Option-A
Question61:-The term victimology originated in the period
A:-1940s
B:-1960s
C:-1930s
D:-1920
Correct Answer:- Option-A
Question62:-Who developed theory of victimization first
A:-Henting and Manderson
B:-Mortal
C:-Parcels
D:-Lombrosso
Correct Answer:- Option-A
Question63:-All the crimes that are unknown except to the offender and victim is known as
A:-Dark figure of crime
B:-Black figure of crime
C:-Red figure of crime
D:-None of these
Correct Answer:- Option-A
Question64:-Criminology is both seen as social science which is concerned with the aspect of
A:-Human anatomy
B:-Human Biology
C:-Harmful Behavior
D:-Human Behavior
Correct Answer:- Option-D
Question65:-In year 1985 the U.N passed the declaration of the basic principles to of crime
A:-Offender
B:-Prosecution
C:-Police
D:-Justice to the victim
Correct Answer:- Option-D
Question66:-Indian society of victimology was started in the year
A:-1992
B:-1995
C:-1994
D:-1998
Correct Answer:- Option-A
Question67:-On whose authority prisoners were admitted to open prison
A:-Judiciary
B:-police
C:-Jail Authority
D:-Juvanial Justice Court
Correct Answer:- Option-C
Question68:-Human Trafficking is an example of
A:-Hate crime
B:-Organized crime
C:-Violent crime
D:-Property Crime
Correct Answer:- Option-B
Question69:-D.K. Basu case the Hon'ble supreme court gave guideline
A:-Victim right
B:-Child right
C:-Women's right
D:-Arrest by the police
Correct Answer:- Option-D
Question70:-Sub Jails are meant for



A:-Under trial
B:-Capital Punishment
C:-Convict for Live
D:-None of these
Correct Answer:- Option-A
Question71:-The Act which provides for community service in India is called
A:-Domestic violence Act
B:-Probation of offenders Act
C:-Juvenile Justice Act
D:-None of these
Correct Answer:- Option-D
Question72:-The first Jail Training school in India is
A:-M.P
B:-U.P
C:-A.P
D:-Kerala
Correct Answer:- Option-B
Question73:-Polygraph Test is an aid to
A:-Investigation of the case
B:-Correction
C:-Rehabilitation
D:-None of these
Correct Answer:- Option-A
Question74:-Restitution refers to
A:-Victim pay money to the offender
B:-Offender pay money to the victim
C:-State pay money to the offender
D:-None of these
Correct Answer:- Option-B
Question75:-Prostitution is presently termed as
A:-Commercial sex
B:-Consent Sex
C:-Extra marital Sex
D:-Infidelity
Correct Answer:- Option-A
Question76:-Under the probational offenders act probation is granted to
A:-All offenders
B:-First time offenders
C:-Terrorist
D:-Recidivist
Correct Answer:- Option-B
Question77:-Which of the following is a victim less crime
A:-Murder
B:-Hijacking
C:-Theft
D:-Prostitution
Correct Answer:- Option-D
Question78:-Essays on crime and punishment was written by
A:-Cesare Lombroso
B:-Cesare Beccaria
C:-Sufferland
D:-Sigment floid
Correct Answer:- Option-B
Question79:-Pre sentence report is to court if below 21 years of age.
A:-Mandatory
B:-Discreation
C:-Preferable
D:-Not necessary
Correct Answer:- Option-A
Question80:-The person who visited in India in 1950s to study about the prisons in India is
A:-Edwin Sutherland
B:-Walter reckless
C:-Charles Sobharaj
D:-Lord Mecaule
Correct Answer:- Option-B
Question81:-Capital Punishment is
A:-Reformation
B:-Retribution
C:-Rehabilitation
D:-Prevention
Correct Answer:- Option-B
Question82:-Which one of the following is a crime data
A:-Prisons statistics
B:-Crime in India
C:-Hand book to prisoners
D:-Census report
Correct Answer:- Option-B
Question83:-The Right of the Prisoners are except one of the following
A:-Right to speak
B:-Right of movement
C:-Right to Education
D:-Right to vote
Correct Answer:-Question Cancelled
Question84:-Which one of the following at the top of the hierarchy in courts of the state



A:-Chief judicial magistrate
B:-Judicial magistrate
C:-Sessions court
D:-None of these
Correct Answer:- Option-D
Question85:-The following crime is with the guilty mind
A:-Physical injury
B:-Actress reas
C:-Mensrea
D:-None of these
Correct Answer:- Option-C
Question86:-Premature release of prisoner is granted by
A:-Police
B:-Court
C:-Prisoner Officer
D:-Advisory board
Correct Answer:- Option-D
Question87:-The law which defines crimes and specific punishment is known as
A:-civil law
B:-Common law
C:-Local law
D:-Criminal law
Correct Answer:- Option-D
Question88:-The public prosecutors and Govt. leaders are appointed by
A:-Supreme court of India
B:-High court of India
C:-State Govt
D:-None of these
Correct Answer:- Option-C
Question89:-Which form of the punishment is given to a child in conflict with law
A:-Banishment
B:-Life imprisonment
C:-probation
D:-None of these
Correct Answer:- Option-C
Question90:-The Prison statistics in India published by report published by
A:-BP and ARD
B:-National Police Academy
C:-LNJN
D:-NCRB
Correct Answer:- Option-D
Question91:-The sentencing alternate that requires the offender to spend at least a part of the time for the community is called
A:-Compensation
B:-Restitution
C:-Community Service
D:-Fine
Correct Answer:- Option-C
Question92:-What is Phishing under IT Act
A:-Cheating
B:-Cyber crime
C:-White collar crime
D:-Embezzlement
Correct Answer:- Option-B
Question93:-A crime by person by virtue of his official position is
A:-ITP Act
B:-Protection of human rights act
C:-Civil rights Act
D:-Prevention of corruption act
Correct Answer:- Option-D
Question94:-The president of India can
A:-Reduce the death sentence to life
B:-Enhance the life sentence to life
C:-Impose death penalty
D:-Grant parole
Correct Answer:- Option-A
Question95:-The examination of fact and law in a case for the purpose reaching a judgment is called
A:-Filing a charge sheet
B:-Trial
C:-Bail
D:-Summons
Correct Answer:- Option-B
Question96:-The word Normlesness is
A:-Atavism
B:-Anomie
C:-Anomaly
D:-None of these
Correct Answer:- Option-B
Question97:-What is the main law deals with prisons in India
A:-Transfer of Prisoners Act
B:-Prisoners Act
C:-The prisons Act
D:-None of these
Correct Answer:- Option-C
Question98:-Who among the following can pass a sentence of death



A:-a sessions judge

B:-chief judicial magistrate

C:-Judicial first class magistrate

D:-Hon'ble assistant Judge

Correct Answer:- Option-A
Question99:-In camera trails are permitted to

A:-Sexual offences

B:-Murder

C:-NDPS case

D:-All of the above

Correct Answer:- Option-A
Question100:-Habeus Corpus denotes

A:-Production of a person in the police Station

B:-Produce the person before a court

C:-Produce the person before the prison

D:-None of these

Correct Answer:- Option-B

type of offences



